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Figure S1. Size distribution of paved road dust at Los Angeles, Long Beach
and Rubidoux during two time periods. TSP —Total suspended particulate
matter; PM;, — particles with an aerodynamic diameter < 10 pm; Fine —
particles with an aerodynamic diameter < 2 pm.
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Table S1. Chemical composition of the TSP, PM,y and PM, Components of Size-fractionated Paved Road
Dust Source Samples from Los Angeles, Long Beach and Rubidoux, CA 1995 - 1996.

Los Angeles
Chemical TSP TSP PMq PM;p PM,
Species Oct - Jan Feb - May Oct - Jan Feb - May Oct - May
Weight % of Particle Mass (Average + Std)

Al 5.02 + 1.47 . 420 +1.23 8.34 £ 2.44 9.01 £ 2.64 4.12 = 0.08
Si 15.21 £ 4.75 13.97 +4.37 25.04 + 7.83 27.64 + 8.64 13.75 £ 0.08
P 0.05 = 0.02 0.04 =+ 0.02 0.09 + 0.04 0.10 + 0.05 0.12 £ 0.02

S 0.24 = 0.02 033 £ 0.02 0.42 = 0.03 0.70 + 0.03 0.81 + 0.04
Cl 0.00 + 0.03 0.02 +0.03 0.00 £ 0.04 0.13 + 0.04 0.08 + 0.02
K 1.07 = 0.21 097 x0.19 1.68 + 0.32 1.91 £ 0.37 1.22 £ 0.03
Ca 1.47 £ 0.24 1.58 =+ 0.25 229 £037 3.05 + 0.49 2.06 + 0.03
Ti 0.26 + 0.03 026 =+ 0.03 0.42 = 0.03 0.44 + 0.04 0.34 + 0.08
A\ 0.01 £ 0.02 0.01 =+0.02 0.02 + 0.02 0.01 = 0.03 0.00 + 0.05
Cr 0.01 £ 0.00 0.01 = 0.00 0.01 = 0.00 0.01 + 0.00 0.02 + 0.01
Mn 0.04 = 0.00 0.04 = 0.00 0.07 = 0.00 0.07 + 0.00 0.06 + 0.01
Fe 3.45 + 0.01 319 £0.01 5.54 = 0.01 6.09 + 0.01 5.86 + 0.02
Co 0.00 = 0.05 0.01 =+0.05 0.00 + 0.09 0.00 + 0.09 0.00 = 0.09
Ni 0.00 = 0.00 0.00 =+ 0.00 0.01 = 0.00 0.01 £0.00 0.01 <+ 0.00
Cu 1.10 = 0.00 1.01 < 0.00 1.84 £ 0.01 2.07 = 0.01 2.43 + 0.01
Zn 0.52 = 0.00 049 =+ 0.00 . 0.86 £ 0.00 0.99 + 0.00 1.14 + 0.01
Ga 0.00 £ 0.01 000 =001 0.00 £ 0.01 0.00 £ 0.01 0.00 = 0.02
As 0.00 + 0.09 0.00 = 0.09 0.00 = 0.16 0.00 £ 0.18 0.00 + 0.20
Se 0.00 = 0.00 0.00 =+ 0.00 0.00 £70.00 0.00 £ 0.01 0.00 + 0.01
Br 0.00 £ 0.00 0.00 = 0.00 0.00 + 0.01 0.00 + 0.01 0.00 £ 0.01
Rb 0.00 = 0.00 0.00 = 0.00 0.01 + 0.00 0.01 £ 0.00 0.01 + 0.00
Sr 0.03 = 0.00 0.05 =+ 0.00 0.04 = 0.00 0.12 + 0.00 0.05 = 0.00
Y 0.00 £.0.01 0.00 +0.01 0.00 + 0.01 0.00 £ 0.01 0.00 + 0.01
Zr 0.01 + 0.00 0.01 <+ 0.00 0.01 = 0.00 0.01 £ 0.00 0.01 + 0.01
Mo 0.00 + 0.01 0.00 =+0.01 0.00 + 0.01 0.00 = 0.01 0.00 £ 0.01
Pd 0.00 = 0.02 000 =+0.02 0.00 + 0.02 0.00 + 0.02 0.00 = 0.04
Ag 0.00 £ 0.02 0.00 = 0.02° 0.00 + 0.02 0.00 £ 0.02 0.00 £ 0.05
Cd 0.00 £ 0.02 0.00 =+0.02 0.00 £ 0.02 . 0.00 = 0.03 0.01 £ 0.05
In 0.00 £ 0.02 0:.00- +0.03 0.00 + 0.02 0.00 + 0.03 0.00 + 0.06
-Sn 0.05 = 0.02 0.07 =0.02 0.08 = 0.02 0.11 £ 0.02 0.10 £ 0.05
Sb 0.01 + 0.03 0.01 =004 0.00 + 0.03 0.00 = 0.04 0.00 = 0.09
Ba 0.05 £ 0.11 002 =+0.14 0.05 £ 0.12 0.12 £ 0.10 - 0.18 £ 0.32
La 0.02 £ 0.15 002 =+0.18 0.00 £ 0.15 0.00 + 0.20 0.05 £ 0.43
Au 0.01 + 0.02 000 =002 . 0.00 + 0.03 0.01 + 0.04 0.00 + 0.04
Hg 0.00 £ 0.01 0.00 +0.01 0.00 = 0.01 0.00 = 0.01 0.00 = 0.01
Tl 0.00 + 0.02 0.00 =+ 0.02 0.00 £ 0.03 0.00 + 0.03 0.00 £ 0.04
Pb 0.57 = 0.01 0.54 +0.01 1.02 £ 0.01 - 1.14 + 0.01 1.29 = 0.02
U 0.00 = 0.00 000 =001 0.00 = 0.00 0.00 £ 0.01 0.00 + 0.01
EC 0.49 + 0.31 071 +0.38 1.51 = 0.35 1.01 = 0.40 0.90 =+ 0.88
oC 8.38 = 0.69 11.90 = 0.91 10.95 + 0.82 14.49 + 1.05 1512 + 1.58
Cl- 0.00 £ 0.05 002 =004 0.01 £ 0.04 0.04 £ 0.05 0.00 £ 0.11
NO3- 0.08 = 0.08 0.08 =+ 0.07 0.09 = 0.03 0.15 + 0.07 0.12 + 0.17
SO4= 0.27 £ 0.05 0.63 =+ 0.04 0.31 + 0.04 1.10 + 0.05 0.95 = 0.11
NH4+ 0.00 £ 0.02 0.00 =+0.02 0.10 = 0.02 0.09 £ 0.02 0.00 + 0.05

Na+ 0.05 + 0.15 042 =+ 0.15 0.27 + 0.15 0.27 + 0.15 0.00 + 0.15
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Table S1. (continued)
Long Beach
Chemical TSP TSP PMyp PMyq PM;
Species Oct - Jan Feb - May Oct-Jan Feb - May Oct - May

Weight % of Particle Mass (Average * Std)

2.15 4.01

Al 377 + 111 280 = 0.82 505 = 148 732 = + 0.06
Si 1246 + 3.89 9.03 = 282 16.78 + 5.25 2398 + 7.49 1422 = 0.06
P 0.06 =+ 0.03 005 =+ 003 0.09 + 0.04 012 =+ 0.05 015 = 0.02
S 020 = 001 014 =+ 0.01 0.26 = 0.01 038 = 0.02 062 = 0.02
Cl 005 = 0.02 006 == 0.02 006 = 0.02 011 . 0.04 010 = 0.02
K 098 = 0.19 072 = 014 122 = 024 1.77 = 034 1.57 = 0.02
Ca 20 = 033 140 = 023 253 = 041 361 = 058 463 + 0.03
Ti 016 == 0.05 012 =+ 0.05 022 = 0.06 032 =+ 0.07 039 + 0.06
\Y% 000 = 004 000 = 0.03 001 =+ 0.03 000 =+ 0.04 002 = 0.04
Cr 000 =+ 001 0.01 = 001 001 = 0.01 001 = 001 002 = 001
Mn 0.04 = 0.00 003 = 0.00 005 =+ 0.01 007 = 0.01 010 = 001
Fe 228 = 0.01 1.68 = 0.01 285 = 0.01 425 = 0.02 540 = 0.02
Co 000 = 004 001 = 003 000 = 0.04 001 = 007 0.00 + 0.08
Ni 000 =+ 0.00° 000 == 0.00 001 <= 000 001 == 0.00 001 = 000
Cu 004 = 0.00 004 = 0.00 016 = 0.00 012 =+ 0.00 015 = 0.00
Zn 009 =z 0.00 0.08 = 0.00 018 == 0.00 020 + 000 - 026 + 0.0
Ga 000 + 001 000 = 001 000 = 001 000 =+ 001 000 = 001
As 000 =+ 001 000 =+ 001 000 =+ 0.02 000 =+ 0.02 0.00 = 0.02
Se 000 =+ 0.00 000 = 0.00 000 = 0.00 0.00 + 0.00 0.00 =+ 000
Br 000 =+ 0.00 000 = 0.00 000 = 0.00 000 == 0.00 000 =+ 000
Rb 0.00 + 0.00 000 = 000 0.00 = 0.00 0.01 = 0.00 0.01 = 0.00
Sr 003 == 0.00 002 =+ 0.00 004 = 0.00 004 = 0.00 0.05 = 0.00°
Y 000 =+ 000 000 = 0.00 0.00 = 0.0 000 =+ 001 000 =+ 000
Zr 000 + 0.00 000 = 000 0.01 = 0.00 001 = 0.00 001 = 0.00
Mo 000 = 0.01 000 =+ 0.01 000 =+ 0.01 000 = 001 000 =+ 001
Pd 0.00 = 003 000 + 003 000 =+ 003 000 =+ 003 001 = 003
Ag 000 = 003 002 = 003 001 =« 0.03 000 = 004 000 + 003
Cd 0.00 =+ 003 001 =+ 0.03 002 = 004 0.00 = 0.04 000 =+ 004
In 000 = 0.04 000 = 004 000 =+ 0.04 000 =+ 0.05 000 + 004
Sn 001 =+ 005 . 000 = 005 000 =+ 005 001 =+ 006 000 = 0.05
Sb 000 + 005 -0.00 = 0.06 000 = 0.06 000 = 0.07 000 x= 006
Ba- 008 =+ 019 006 =+ 0.20 003 =+ 022 008 =+ 026 005 = 021
La 007 =+ 026 000 =+ 027 000 =+ 029 000 = 035 007 + 029
Au 000 =+ 001 -0.00 = 001 000 = 0.01 000 = 0.01 000 == 001
Hg 000 = 001 000 =+ 001 000 = 001 000 == 001 000 = 001
Tl 000 = 001 000 = 001 0.00 = 0.01 0.00 = 001 000 = 001
Pb 005 == 0.01 004 = 0.01 0.09 = 0.01 010 = 0.01 014 = 001
U 0.00 = 001 000 = 001 000 =+ 0.01 000 = 001 000 = 001
EC 281 = 0.76 070 = 056 120 = 071 090 =+ 0.64 1.80 =+ 0.62
oC 908 =x= 110 1473 =+ 124 1674 = 1.46 1218 + 1.20 1526 + 1.28
Cl- 000 =+ 0.06 003 =+ 007 001 =+ 0.10 003 = 007 007 = 007
NO3- 001 = 0.10 004 = 0.10 0.00 = 0.5 003 =+ 0.11 003 = 0.11
SO4= 021 = 0.06 045 = 0.07 048 =+ 0.10 051 + 007 - 092 == 0.07
NH4+ 012 = 0.03 011 = 0.03 021 = 0.04 000 =+ 0.03 000 + 0.03
Na+ 037 =+ 0.15 005 = 0.15 070 = 0.16 0.11 =+ 0.16 032 + 0.15
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Table S1. (continued)

Rubidoux
Chemical TSP TSP PMyo PM PM,
Species Oct - Jan Feb - May Oct - Jan Feb - May Oct - May
Weight % of Particle Mass (Average + Std)
T Al 598 = 1.76 638 =+ 1.87 1135 = 3.33 1103 = 324 502 = 0.07
Si 1790 + 5.59 1920 + 6.00 3256 = 10.18 3232 + 10.10 1549 = 0.06
P 0.10 = 0.05 0.14 =+ 0.07 018 =+ 0.08 0.17 = 0.08 0.12 = 0.01
S 0.16 = 0.02 0.18 =+ 0.02 024 = 0.02 023 = 0.02 032 = 0.01
Cl 006 = 0.03 004 =+ 0.07 010 = 0.04 010 = 0.04 007 = 0.02
K 147 = 0.28 1.54 = 030 273 + 053 261 = 0.50 183 = 0.02
Ca 257 = 041 258 + 042 442 = 071 437 = 070 3.96 = 0.03
Ti 032 =+ 0.09 027 = 0.12 050 = 0.08 054 = 0.10 043 = 0.05
v 002 =+ 0.05 000 =+ 0.09 000 = 0.05 003 =+ 0.06 000 = 0.03
Cr 001 =+ 001 000 = 0.03 002 = 0.01 002 =+ 0.01 003 =+ 0.01
Mn 010 = 0.01 010 = 0.01 017 £ 0.01 0.17 = 0.01 017 =+ 0.01
Fe 372 = 0.02 378 + 0.02 674 =+ 0.02 641 = 0.02 634 =+ 0.02
Co 001 =+ 0.06 001 =+ 0.06 000 = 0.11 0.00 =+ 0.10 001 = 0.10
Ni 000 + 001 000 = 001 000 =+ 0.01 000 =+ 001 001 = 0.00
Cu 0.02 =+ 0.01 003 =+ 0.1 011 = 0.00 0.05 = 0.01 0.09 = 0.00
Zn 0.06 + 0.01 007 = 0.01 016 == 0.01° 012 = 0.01 016 = 0.00
Ga 000 + 001 000 =+ 0.01 000 == 0.01 000 = 001 000 = 0.01
As 000 =+ 0.01 000 =+ 0.02 000 =+ 002 0.00 = 0.02 000 = 0.02
Se 0.00 = 0.01 000 = 0.01 0.00 = 0.01 0.00 x 0.01 000 = 0.00
Br 000 = 001 000 x 0.01 000 = 001 000 + 001 0.00 =+ 0.00
Rb 0.00 = 0.00 0.01 =+ 0.0 0.01 = 000 0.01 = 0.00 001 = 0.00
Sr 005 =+ 0.00 004 = 0.01 008 <= 0.00 007 = 0.00 007 = 0.00
Y 000 =+ 001 000 = 0.1 001 = 0.00 000 =+ 001 000 = 0.00
Zr 001 =+ 0.01 000 z= 0.01 001 = 001 001 = 0.01 001 = 0.00
Mo 000 = 0.02 000 = 0.02 000 =+ 001 000 =+ 0.02 000 =x 0.01
Pd 0.00 = 0.04 001 = 0.06 000 =+ 004 000 + 0.05 000 = 0.03
Ag 001 =+ 0.05 000 =+ 0.07 000 = 005 0.00 = 0.06 000 = 0.03
Cd 000 =+ 005 ~0.00 = 0.07 000 = 0.05 002 =+ 0.06 000 = 0.03
In 000 =+ 006 000 =+ 0.08 000 =+ 0.06 000 = 007 001 = 0.04
Sn 002 =+ 008 000 = 0.10 001 -+ 007 003 =+ 0.09 001 = 0.05
Sb 000 = 009 001 =+ 0.12 000 + 0.08 .000 = 0.11 0.00 = 0.06
Ba 000 =+ 034 016 = 043 019 = 029 000 =+ 0.38 015 = 0.20
La 000 =+ 045 017 =+ 058 000 = 039 000 == 051 001 = 0.27
Au 001 =+ 002 000 + 0.02 001 = 0.02 001 + 002 0.00 = 0.01
Hg 000 = 0.01 000 =+ 0.02 000 = 0.01 000 =+ 0.02 000 = 0.01
Tl 000 =+ 0.01 000 = 0.02 000 = 0.01 000 == 0.01 0.00 = 0.01
Pb 003 =+ 0.01 004 = 0.02 0.08 =+ 0.01 007 =+ 0.01 009 = 0.01
0] 000 =+ 0.01 000 =+ 0.02 000 = 0.01 000 = 0.01 000 = 0.01
EC 270 + 1.03 049 =+ 140 027 =+ 0.65 045 "+ 098 037 = 0.53
oC 753 = 1.38 804 =+ 1.83 812 + 1.02 865 =+ 142 10.30 =+ 1.02
Cl- 000 =+ 0.3 000 = 0.16 000 =+ 0.09 000 == 0.12 005 = 0.07

NO3- 009 + 020 014 = 029 006 = 013 005 =+ 018 014 =+ 0.10

SO4= 009 = 013 015 = 0.16 004 =+ 009 023 =+ 0.12 054 = 0.07

NH4+ 0.00 + 006 000 =+ 0.08 000 = 0.04 0.00 =+ 005 000 = 0.03

Na+ 000 + 0.15 000 =+ 0.15 000 = 0.15 005 =+ 0.15 026 = 0.15

Species whose concentration are greater than zero by at least two standard deviations of the analytical
methods used to make the measurements are shown in bold face.




